
12. baT AABC BD CE FUA HT TITE BD = CE, 
(i) ACBD ABCE THR U ADI fAR4 
(ii) ACBD= ABCE T? 
(ii) DCB = EBCTA? Z R ? 

D 

B C 

12. 15 AB =DC R BC= AD. Neat R AABC = ACDAI 

7.2 

1. AABC U APQR 7 AB = 4cm, BC = 5cm, AC = 6cm, PQ = 4cm, QR = 5 cm, PR 

(a) AABC AQRP (b) AABC APQR 
(c)AABC APRQ (d) AABC = AQPR 

2 AABC7 ZA = 90° AB =AC. 
(a) B = 2C = 60° (b) B = 2C 300 

(c) B = 2C = 450 (d) B = C = 50°

3. FTRRTR pe eoco1 E1 -

(a) 600 (b) 300 (c) 450 (d) 400 

4. TbaE AB = CD 
, AD CB, DAB = BCD 

(a) AABC e AADC 

X 
(b) AABC s AACD 

(c) ABADe ADCB 

(d) AABC e ACAD 

125 



5. AABC APQR 1 AB = 3'5 C5 1i, BC= 7"15 1, AC = 5G 4, PQ=71 5 A, 
5. 

QR= 55 f U PR =3'5C5 CUTE D C| 

(a) AABC AQRP (b) AABC = APQR 

(c) AABC: ARPO (d) AABC AOPR 

6. AABC ADEF T AB = 75 , BC= 5C5 a, ZB = 50°, DE=505 a, EF= 7cm, 
6. 

2E = 50° a ATAGI - 56U fAg 7 AIRS| 

(a) SAS (b) RHS (c) ASA (d) SSS 

7. AABC T APQR 7 ZB = ZP = 90° AB= RPI a9 7R57AT a 

(d) R = 2CI 
(a) AC RQ (b) LA = P (c) BC = QR 

8. 31 AABC ADEF T LA = 50°, ZE = 85° COTT ZC=? 

(d) 400 (a) 500 (b) 450 (c) 85° 

3. D1 tae IRA TMR 

) 

(i) 

(V) 
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